Math Section

------------------------------------------------------------------------------------------------------------

Q1:

A wire that weighs 24 kilograms is cut into two pieces so that one of the pieces weighs 16 kilograms and is 34 meters long.  If the weight of each piece is proportional to its length, how many meters long is the other piece of wire?

A. 8

B. 11

C. 13

D. 17

E. 20

Answer: 

------------------------------------------------------------------------------------------------------------

Q2:





   A

        

        E

In the figure, points A, B, C, D, and E lie on a line.  A is on both circles, B is the center of the smaller circle, C is the center of the larger circle, D is on the smaller circle, and E is on the larger circle.  What is the area of the region inside the larger circle and outside the smaller circle?

(1)
  AB = 3 and BC =2

(2)
  CD =1 and DE = 4

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q3:

A certain company assigns employees to offices in such a way that some of the offices can be empty and more than one employee can be assigned to an office.  In how many ways can the company assign 3 employees to 2 different offices?

A. 5

B. 6

C. 7

D. 8

E. 9

Answer: 

------------------------------------------------------------------------------------------------------------

Q4:

If S is the sum of the reciprocals of the consecutive integers from 91 to 100, inclusive, which of the following is less than S?

  I.  
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1



 II.  
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1



III.  
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A.
None
B.
I only

C.
III only
D.
II and III only
E.
I, II, and III
  Answer: 

------------------------------------------------------------------------------------------------------------

Q5:

If vmt ≠ 0, is v2m3t-4 > 0?

(1)
  m > v2

(2)
  m > t-4

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q6:

If a code word is defined to be a sequence of different letters chosen from the 10 letters A, B, C, D, E, F, G, H, I, and J, what is the ratio of the number of 5-letter code words to the number of 4-letter code words?

A. 5 to 4

B. 3 to 2

C. 2 to 1

D. 5 to 1

E. 6 to 1

Answer: 

------------------------------------------------------------------------------------------------------------

Q7:

If y is the smallest positive integer such that 3,150 multiplied by y is the square of an integer, then y must be

A. 2

B. 5

C. 6

D. 7

E. 14

Answer: 

------------------------------------------------------------------------------------------------------------

Q8:

An equilateral triangle that has an area of 9
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 is inscribed in a circle.  What is the area of the circle?

A. 
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B. 
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C. 
[image: image7.wmf]p

12


D. 
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E. 
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Answer: 

------------------------------------------------------------------------------------------------------------

Q9:

If x and z are integers, is at least one of them even?

(1)
  x + z is odd.

(2)
  x - z is odd.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q10:

A certain quantity is measured on two different scales, the R-scale and the S-scale, that are related linearly.  Measurements on the R-scale of 6 and 24 correspond to measurements on the S-scale of 30 and 60, respectively.  What measurement on the R-scale corresponds to a measurement of 100 on the S-scale?

A. 20

B. 36

C. 48

D. 60

E. 84

Answer: 

------------------------------------------------------------------------------------------------------------

Q11:

The total cost of an office dinner was shared equally by k of the n employees who attended the dinner.  What was the total cost of the dinner?

(1)
  Each of the k employees who shared the cost of the dinner paid $19.

(2)
If the total cost of the dinner had been shared equally by k + 1 of the n employees who attended the dinner, each of the k + 1 employees would have paid $18.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q12:

A certain liquid leaks out of a container at the rate of k liters for every x hours.  If the liquid costs $6 per liter, what is the cost, in dollars, of the amount of the liquid that will leak out in y hours?

A. 
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[image: image11.wmf]ky

x

6


C. 
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Answer: 

------------------------------------------------------------------------------------------------------------

Q13:

Which of the following is equal to 
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C. 
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E. 2

Answer: 

------------------------------------------------------------------------------------------------------------

Q14:

A company has assigned a distinct 3-digit code number to each of its 330 employees.  Each code number was formed from the digits

2, 3, 4, 5, 6, 7, 8, 9

and no digit appears more than once in any one code number.  How many unassigned code numbers are there?

A. 6

B. 58

C. 174

D. 182

E. 399

Answer: 

------------------------------------------------------------------------------------------------------------

Q15:

If s4v3x7 < 0, is svx < 0?

(1)
  v < 0

(2)
  x > 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q16:

Is 
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(1)
  v and x are integers.

(2)
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 = 4 and 
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 = 6

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q17:

A certain list consists of 21 different numbers.  If n is in the list and n is 4 times the average (arithmetic mean) of the other 20 numbers in the list, then n is what fraction of the sum of the 21 numbers in the list?

A.   
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Answer: 

------------------------------------------------------------------------------------------------------------

Q18:

If wz < 2, is z < 1? 

(1)
  w > 2

(2)
  z < 2

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q19:

In a certain region, the number of children who have been vaccinated against rubella is twice the number who have been vaccinated against mumps.  The number who have been vaccinated against both is twice the number who have been vaccinated only against mumps.  If 5,000 have been vaccinated against both, how many have been vaccinated only against rubella?

A. 2,500

B. 7,500

C. 10,000

D. 15,000

E. 17,500

Answer: 

------------------------------------------------------------------------------------------------------------

Q20:

In the sequence 1, 2, 4, 8, 16, 32, …, each term after the first is twice the previous term.  What is the sum of the 16th, 17th, and 18th terms in the sequence?

A. 218
B. 3(217)

C. 7(216)

D. 3(216)

E. 7(215)

Answer: 

------------------------------------------------------------------------------------------------------------

Q21:

At a garage sale, all of the prices of the items sold were different.  If the price of a radio sold at the garage sale was both the 15th highest price and the 20th lowest price among the prices of the items sold, how many items were sold at the garage sale?

A. 33

B. 34

C. 35

D. 36

E. 37

Answer: 

------------------------------------------------------------------------------------------------------------

Q22:

                                                                m


                                                     uº

                                                          wº

                                                                           n

Lines m and n intersect, as shown in the figure above.  What is the value of u - w?

(1)
  u = 90

(2)
  Lines m and n are perpendicular.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q23:

If the volume of a small container is 14,520 cubic millimeters, what is the volume of the container in cubic centimeters?
(1 millimeter = 0.1 centimeter)

A. 0.1452

B. 1.452

C. 14.52

D. 145.2

E. 1,452

Answer: 

------------------------------------------------------------------------------------------------------------

Q24:

From Leland’s gross pay of p dollars last week, t percent was deducted for taxes and then s dollars was deducted for savings.  What amount of Leland’s gross pay last week remained after these two deductions?

(1)
  p - s = 244

(2)
  pt = 7,552

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q25:

If the sequence x1, x2, x3, …, xn, … is such that x1  = 3 and xn+1 = 2xn – 1 for n ≥ 1, then x20 – x19 =

A. 219
B. 220
C. 221
D. 220 - 1

E. 221 - 1

Answer: 

------------------------------------------------------------------------------------------------------------

Q26:

What is the greatest common factor of the positive integers j and k?

(1)
  k = j + 1

(2)
  jk is divisible by 5.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q27:
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A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q28:

In 1994, Kenneth’s annual salary was 30 percent higher than it was in 1993.  In 1995, Kenneth’s annual salary was reduced to 104 percent of his 1993 annual salary.  Kenneth’s 1995 annual salary was what percent less than his 1994 annual salary?

A. 16%

B. 20%

C. 24%

D. 26%

E. 28%

Answer: 

------------------------------------------------------------------------------------------------------------

Q29:

For any integer k greater than 1, the symbol k* denotes the product of all the fractions of the form 
[image: image31.wmf]t
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, where t is an integer between 1 and k, inclusive.  What is the value of 
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A. 5

B. 
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Answer: 

------------------------------------------------------------------------------------------------------------

Q30:

If all of the employees of Company K who worked there last January are still there, how many employees does Company K have now?

(1)
Last January the ratio of the number of male employees to the number of female employees was 2 to 3.

(2)
Since last January, Company K has employed 400 new male employees and no new female employees, raising the ratio of the number of male employees to the number of female employees to 3 to 4.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q31:

In the xy-plane, the vertices of a triangle have coordinates (0, 0), (3, 3), and (7, 0).  What is the perimeter of the triangle?

A. 13

B. 
[image: image37.wmf]34


C. 
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D. 7 + 
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E. 12 + 
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Answer: 

------------------------------------------------------------------------------------------------------------

Q32:

If n is a positive integer, what is the value of the hundreds digit of 30n?

(1)
  30n > 1,000

(2)
  n is a multiple of 3.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q33:

A store’s selling price of $2,240 for a certain computer would yield a profit of 40 percent of the store’s cost for the computer.  What selling price would yield a profit of 50 percent of the computer’s cost?

A. $2,400

B. $2,464

C. $2,650

D. $2,732

E. $2,800

Answer: 

------------------------------------------------------------------------------------------------------------

Q34:

What is the value of the integer n?

(1)
  n(n + 2) = 15

(2)
  (n + 2)n = 125

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q35:

On Monday a store had a sale on bottles of juice S and juice T.  If 
[image: image41.wmf]2

1

 the total number of bottles of juice S in stock were sold on Monday, for which juice, S or T, were more of the bottles sold that day?

(1)
Two-thirds of the total number of bottles of juice T in stock were sold on Monday.

(2)
At the beginning of the sale, there was a total of 90 bottles of juice S and 60 bottles of juice T in stock.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q36:

The age of the Earth is approximately 1.3 
[image: image42.wmf]´

 1017 seconds, and one year is approximately 3.2 
[image: image43.wmf]´

 107 seconds.  Which of the following is closest to the age of the Earth in years?

A. 2.5 
[image: image44.wmf]´

 109
B. 4.1 
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 109
C. 1.9 
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 1010
D. 2.5 
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 1011
E. 4.1 
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 1011
Answer: 

------------------------------------------------------------------------------------------------------------

Q37:

If x < 0 and 0 < y < 1, which of the following has the greatest value?

A. x2
B. (xy)2
C. (
[image: image49.wmf]y

x

)2
D. 
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E. x2y
Answer: 

------------------------------------------------------------------------------------------------------------
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